CLASS X Moderate Level

SCIENCE
Maximum Marks: 80
SECTION - A
1. What is the chemical formula of glucose?
(a) C6H1206
(b) C(,quob
(0) CeH10s
(d) CgH120¢
OR

Under which condition does silver chloride decompose?
(a) Acid hydrolysis

(b) Extreme heat

(c) Light

(d) Both (a) and (b)

. Which one of the following precipitates are formed when the carbon dioxide gas is passed through lime
water?

(2) Ca(OH),

(b) Ca(OH),

(c) CaCO

(d) CaCO,

. On which river is Bhakra Nangal Dam located?
(a) Ganga
(b) Satlyj
(c) Narmada
(d) Brahmaputra
- Name the physical quantity whose unit is volt/ampere.
(a) Power
(b) Resistance
(c) Ener
(d) Charge
OR
What is the potential difference across a resistance of 6 ohm, with a current of 5 ampere flowing through
1t?
(@) 6 volt
(b) 11 yolt
(©) 1volt
(d) 30 volt

* What s the range of wavelength of visible light?
) 4%107m to 8 x 10”7m
(c)) ix 10*m to 8 x 107*m
Q) X 10°m to 8 x 10~°m
4% 10%m to 8 x 10~*m
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6. What is the approximate diameter of the eye-ball? &
(@) 1.5cm
(b) 3.5am
(c) 23 cm
(d) 3.3cm
7. By which lens can myopia be corrected?
(a) Convex
(b) Concave
(c) Plano-concave
(d) Plano-convex
8. Name the reaction responsible for the large energy production in the sun.
(a) Nuclear fusion
(b) Nuclear fission
(c) Endothermic reaction
(d) Both (b) and (c)
OR

Which one of the following is used as a fuel in nuclear reactors?
(a) Rubidium-37
(b) Uranium-235
(c) Barium-56
(d) Xenon-54
9. Name two man-made ecosystems.

10. Write one disadvantage of dams.

Answer question numbers 11(a) — 11(d) on the basis of
the related studied concepts.

The reproductive parts of an
petals, stamens and carpels.

your understanding of the following paragraph and

Anther
Filament

Stamen

Pistil

Petal
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) sestion numbers 12 and 13, two state
For qon (R). Select the correct answer to th
ReaS(a) A is true but R is false.

A is false but R is true.

() BothA ang g Is true and R‘iS correct explanation of the assertion.
(d) Both Aand Ris true but R is not the correct explanation of the assertion.

12 Assertion: Aray of light incident along the normal to the plane mirror retraces its path after reflection from
the m_i_rror.

Reason: Aray of light along the normal has angle of incidence as I and hence, it retraces its own path after
2

ments are given- one labeled Assertion (A) and the other labeled
ese questions from the codes as given below

reflection from the mirror.

13, Assertion: Alternating current can be transmitted over longer distances without much loss.
Reason: Alternating current can be stepped up or stepped down depending on the need.

For question flumbers 14, a table is shown. Study the table and answer the four questions that follow (each
stion carries 1 mark).

que

Four elements V,W,X,Yand Z along with their electronic configurations are given below:
Elements \V/ W X Y Z
Electronic configuration 2 252 2,3 24 2,5

14. Answer the following question with reference to the above table
(a) Which one of the above element is a gas?

(b) Which one of the element is the smallest in the above period?
(c) Identify the element X.
)

(d) Which one of the above element can form a large number of covalent compounds?

SECTION - B

15. State the laws of reflection.
OR
Discuss how the brain perceives the image formed on the retina.
16. Define least count. Give one example. What is the commercial unit of energy?
17. What are the three ways to make an electromagnet stronger?
18. Write three differences between metals and non-metals.
19. Mention the properties of covalent compounds.
2. Why do fire flies glow at night?
OR

You are provided with three test tubes A, B and C which contains distilled water, acidic solution and
basic solution respectively. If you are given blue litmus only, how will you identify the contents of each
test tube?

2l. What do you mean by the 3R’s? State how you can implement the 3R’s in practical life.
2. Draw 2 diagram showing the break-down of glucose by various pathways.

. How do Auxin helps in bending of the stem towards light?

% (2) Name some parts of the human female reproductive system.

(b) Write the full forms of IUCD, AIDS, HIV and OC
OR

(@) Defin ti
(b) Whe ies %:;:r dcesci as the “Father of genetics"? Name that plant on which he performed his experiment.

(c) whydidhemmwpumﬂmMsupeﬂmM?
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SECTION - C

25. (a) Most of the metals acquire a dull surface when exposed to air. Name the chemicg)
responsible for this process. ph‘“.‘on\
(b) State the conditions under which iron particles rust. Design the activity to inve
necessary for rusting. Suggest any two methods to prevent rusting of iron.

26. (I) Identify the acids and the base whose combina.tion forms the common salts that Youuse. O
food. Write its formula and chemical name of this salt. Name tl.le source from where ¢ is :; in h
(I) What is rock salt? Mention its colour and the reason due to which it has this colour. h"‘!i
(I What happens when electricity is passed through brine? Write the chemical equation for.

OR

(a) How will you bring about following reaction? Write the concerned chemical equations
(I) Ethanol to ethane
(II) Ethanol to ethanoic acid

(b) Give one example with chemical equation for the following reaction:
(I) Substitution reaction
(IT) Saponification reaction
(I Combustion reaction

stigate the con i
it
h *

27. (a) State two advantages of transpiration to the plant body.
(b) (D List in tabular form, two ways in which ‘transpiration’ is different from ‘translocation’
(I) Why do plants have a slow transport system?
OR
(a) Name two hormones secreted by pancreas. Write one function of each hormone.

(b) How does our body respond to adrenaline secreted into the blood?
(c) Site an example to explain feedback mechanism for regulation of hormonal secretion.

28. (I) Why are two letters (such as TT ,Tt, Tt) used to denote the character of height?
(II) If a purple pea plant (PP) is crossed with a white coloured pea plant (pp), will we have a whit
flowered pea plant in F, generation? why?
(IIT) Define dominant and recessive traits.
(IV) Give an example of body characteristics used to determine how cl
evolution and explain it.
(V) Explain Variation.

ay

ose two species are in termsil

29. Draw ray a diagram for the image formed by a convex lens when the object is placed:
(i) Beyond center of curvature

(i) At center of curvature

30. What is meant by electric current? Name and define its S.I unit. In a conductor, electrons are fowit

from B to A. What is the direction of the conventional current? Give justification for your answer

A steady current of 1 Ampere flows through a conductor. Calculate the number of electrons that!"
through any 5 sections of conductor in 1 second (charge of a electron = 1.6 x 10-2%)

OR
(I) What is a solenoid?

(II) Compare the magnetic field of solenoj
(III) Explain an activity to show that a cur
magnetic field.

d to that of a bar magnet.

i
. % aced'
rent carrying conductor experiences a force when pl

rm

j -
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